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® Binary Operation (for C/C++)

Mask Computing
Mask = 0000 0001 left-shift 3 bits => 0000 1000
Mask = Invert Mask=>1111 0111

Mask Off for Bit N
Mask ="~ (1<< N)

Result = Data & Mask

Mask Computing

Mask = 0000 0001 left-shift 3 bits => 0000 1000
Set On for Bit N

Mask=1<<N
Result = Data | Mask

Get Bit 3 Status (Data =1010 1010)
Data right-shift 3 bits =0001 0101
Data mask off with 0000 0001
0001 0101 & 0000 0001 = 0000 0001

Get Bit N Status
Result=(Data>>N) & 1

Copyright @ 2014 ICP DAS Co., LTD. All Rights Reserved.

-

Mask Off for Bit 3

Data 1010 1010
AND 1111 0111

Result 1010 0010

Set On for Bit 3

Data 1010 0010
OR 0000 1000

o

Result 1010 1010

)

/

Get Bit 3 Status
Data 1010 0010

Shift 0001 0101
AND 0000 0001

~

o

Result 0000 0001




® Binary Operation (for VB)

Mask Computing
Mask = 0000 0001 left-shift 3 bits => 0000 1000
Mask = Invert Mask=>1111 0111

Mask Off for Bit N
Mask = Not (2~ N)

Result = Data and Mask

Mask Computing

Mask = 0000 0001 left-shift 3 bits => 0000 1000
Set On for BitN

Mask=2 "N
Result = Data or Mask

Get Bit 3 Status (Data =1010 1010)
Data right-shift 3 bits =0001 0101
Data mask off with 0000 0001
0001 0101 & 0000 0001 = 0000 0001

Get Bit N Status
Result=(Data\ (2~ N))and 1
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Mask Off for Bit 3

Data 1010 1010
AND 1111 0111

Result 1010 0010

-

Set On for Bit 3

Data 1010 0010
OR 0000 1000

~

Result 1010 1010

o

-

/ Get Bit 3 Status
Data 1010 0010

Shift 0001 0101
AND 0000 0001

Result 0000 0001

o
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Binary Hexadecimal Binary Hexadecimal
0000 0x0 1000 0x8
0001 Ox1 1001 0x9
0010 0x2 1010 OxA (10)
0011 0x3 1011 0xB (11)
0100 0x4 1100 0xC (12)
0101 0x5 1101 0xD (13)
0110 0x6 1110 OxE (14)
0111 0x7 1111 OxF (15)

[ff&+ 2 : Binary Operation (Bitwise)

AND 0 1 OR 0 1
0 0 0 0 0 1
1 0 1 1 1 1
A—] A
Y Y
B_
NOT XOR 0 1
0 1 0 1
1 0 1 1 0
AN
A— Y ) Y
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